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B BMEEE  wmk

T2 (C)

#—F3008 A-FB00 A—FHD

0.11
0.15
0.20
0.26

+ 012
+ 014
s D

0.26

14EXR—F 14RF—F

H B
1400 - 1400
300 280
4.0 6.5
0.1 0.8
12 1.0
21 1.4
3.0 1.4
0.76 0.59
0.78 0.40
A -

400 009 + 008 - 008 * 0.12 + 0.10
600 012 + 041 -+ 011 * 0.14 - 0.14
800 016 * 015 - 015 * 0.17 - 0.19
1000 0.21 0.19 019 - 019 - 024
1200 - 5
B (CFIFE
#—K250 #-K300" H-K300S #—KE0D A—KHD
& = = = = =
BE(ERRE(C) 1200 + 1200 - 1200 + 1200 * 1200
EIE (kg/m?) 250 + 300 - 300 - 450 - 400
INELEE (%) 5.0 5.0 0 0 4.0
MEBNEECHX24BE 800C 02 - 0.2 0.1 02 -
1000C 20 - 20 20 20 1.4
12000 38 - 38 32 40 - 28
1300C -
1400C - : ; : .
B 342 (Mpa) #E 039 : 049 - 031 - 069 - 085
1200Cx 2485 AN 029 -+ 0.31 0.93 1.08 - 0.51
BT : : -
HERREAAEY BELSEICE. SRVEDE T,
+ BXIEEAEABME BEESNM-8777
B EETERUES
#-K250 #-K300/3008 F—K600
& (mm) B4 6 -125- 25-50-100" - 6 -125- 25-50 - 6 -10:125:25- 25-50
& 600 . 600 . 600 - 600
£& 900 . 900 900 - 900

BAAH(M) 2412 - 6-83- 1 U512 6 -

+ K—K250, 14EX. 14RDPIE100mm& I d I TR T 30,
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HK—FHD 14EXA—F-14RF—F

20 - 25 - 50
600
900
5- 4 -2

16R#—F  1BSRA-F  17RA—F  17HH-K  18RFK-F
FEHRE(C) 800 0.16 0.16 0.14 0.21 0.21
1000 0.21 0.20 0.18 0.25 0.26
1200 0.26 0.23 023 0.31 0.33
1400 0.33 0.28 0.29 0.38 0.38
W (LR
16RA—F  16SRFE—F  17RFE-K  A7HE—F  18RF—F
& =] =] =] =) =]
B=EMERE(C) 1600 1600 1700 1700 1800
BEE (kg/md) 260 400 400 700 500
HnEtiH (%) 5.0 5.0 4.0 4.3 4.0
MEEITEE (%) x24BH 1400C 0.5 0.8 - -
1500C 0.1 -0.1 0.0 0.0 :
1600C 05 0.6 0.5 -0.8 0.1
1700°C = -0.1 -0.7 -0.2
1800°C : : < : 0.4
3% (Mpa) ®E 064 1,46 1.27 3.90 1.76
SEEESENSEE 032 0.67 0.69 2.60 1,37
TRk AL Al a] | A] Al
HRRE AT BE S AICE, 5N ShE T,
B EEHERUIRG
16R%E—F  16SRA—F 17RHE—K 1THE—F 18RF—K
FE(mm) B4 20- 25-50 - 20-25-50  20-25-40-50 - 25-50  20-25-40-50 -
] 600 - 60D 600 - 600 600
R 900 - 900 900 . 900 900
WEAKM) 5-4-2 . 2.2.1 2 Pelleodli = A 2.9 -9 -1
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0.25
0.29
0.34
0.39

18HA~F

1800
700
4.2

0.1
-0.1
0.4
31
1.97
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